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FET B A TR M S5 35 RC304£10H 048 4
wmzERTE B
a7 B ANERH G E e TG EI R
R&E IR B @
B R BRI GEAE 3 OFFE 2HOBRICLY, TROLBIVFRELET,
i
Tem | Bk | Bl B
a—F i Fik | PERR (kg) w48 (1) =l il FNE PE (BAL)
Y3002 | = (4FD) 30 30, 536 1,728 443 432 | BA 30kg
34200 |/ 18 3, 640 108 108 97 | B 35{&
Y3033 | AL 379 25, 002 97 54 321 BA 379kg
35940 | AEWAEA 3 1,944 648 648 648 | B 3kg
34800 |B< B 13 10, 039 81 81 65 | B 133% > b
36340 | LR HE 21 6, 782 378 378 281 | & 21kg
37300 FEEF 0 86 22 22 22| B 448
71030 | K7 &7 1,728 27 27 22 BN 704
71032 | K7 &) (F) 972 22 22 111 &H 504
71040 EANE 864 86 86 86 | B 104
71150 | LiE 324 32 32 32| BA 103K
171286 [ Fm—hu 2,722 130 130 130 | &M 214
Y3048 | T v ¥ a3 v OFE 15 5, 886 432 378 378 | B 15kg
30300 | A L 30 11, 340 3,780 3,780 3,780 | dbEE 37—
30300 A% M 20 6, 480 3, 240 3, 240 3,240 | db¥EE 24— A
33500 W5 &3 L 2 1, 426 65 65 54 |15 [ 244%
33810  HEIE 8 7,776 3, 888 3, 888 3,888 |EIRE 24— A
37440 [ vbh 2 896 896 896 896 |2 17—
Y5005 |4 7KZEAN 5 1,534 1,534 1,534 1,534 | K%y 1 —=
31700 | F XY 20 4,104 2,052 2, 052 2,052 |BEEG 24— A
31700 | Fp XY 110 14, 256 1,296 1,296 1,296 | =& 17— R
31930 Zh¥ 6 7,128 119 119 119 |[BEIRE 1604
32800 125 10 7,776 108 65 = 1003
34300 7od 2L 15 9,180 3,240 3, 240 2, 700 | R 34— 2
34400 k=< k 2L 24 11,016 1,944 1, 944 1, 728 | HEA 64 — A
134400 | h< b L 3, 240 3,240 3, 240 3, 240 | BEAK 1r—2
34460 1S =k F k& M 4, 666 194 194 194 | K%y 1248y 7
34100 |#A/K 25 14, 472 2,916 2,916 2,808 | IR S 54— A
34100 | A/ L 15 15, 552 5,184 5,184 5,184 | IR & 34—
34200 |FE I 40 14, 256 3, 564 3, 564 3,564 | tHzE 44—
34520 FRE—v A L 4 6,912 3, 456 3, 456 3, 456 | K4y 24— A
34571 SF U A () 1 864 173 173 173 |8 [E 5{&
34572 1T Y A (HE) 1 864 173 173 173 |8 [F 518
36200 FEEHE L 100 14, 040 1, 404 1, 404 1,404 |dbyiE 10 —2A
36600 7 FEHE L 80 14,904| 3,780 3,780 3,672 dcifiE A=A
36600 mERE LK 80 13, 824 3, 456 3, 456 3, 456 | AL 44— R
33400 L& R 2L 30 8, 294 162 162 108 | K% 601E
33420 Y —rY—TLHR L 3 3,024 3,024 3, 024 3,024 | @A 17 —=
33600 St 1 810 270 270 270 (£ 34%
38100 AL Wi 4 4, 320 108 108 108 | = I 4073y 7
38100 AL W= B 2L 2 1,026 76 54 43 |fER 20/ 7




B e i o i #H
a— K P Efk | R (kg) &4 () =il i | RE H1 (BAL)
34980 ~bLFE 12 983 32 27 22 |\ EIRE 404
31500 [/hRAZE 8 7, 560 3,780 3, 780 3,780 | IR S 27—
31500 |/MAZE 4 3,240 162 162 162 | EIRE 204%
32500 BT 1 1,188 119 119 119 | {2 103
32500 |H0IE 2 2,592 1,296 1,296 1,296| K4y 24— R
37560 |BBIE 1 2, 700 540 540 540 | K4y 5y
38604 | =Y L XE 3 2,916 97 97 97 | E% 3048
40100 | B H A 2S 70 13,014 972 918 918 | IR & 1447 — =
41430 [ L—FTN—> 15 2, 700 2,700 2, 700 2,700 77 UH 17—RA
Y4016 B oh B 20 8, 316 5,832 5, 832 2, 484 | H 2k — R
43150 |FrE L 15 3, 564 1,188 1,188 1,188 |48 134 — A
43500 |4 2L 45 7,236 864 864 324 | f&[H 94—
Y4020 FEZx Ukh 3 2,700 270 270 270 | FnEk L 1048
45230 |EIES L9 1 972 324 324 324 |f& 3%y
45080 | A B v b 4 4,212 2,160 2,160 2,052 | [ 1L 24—
Y4044 WV AT v aHE 6 3,672 1, 296 1,296 1,080 | & 34—
45700 <D 1 292 216 216 216 |BIRE lkg
49100 |/SFF 180 18, 792 1, 620 1, 080 1,080 74 VY 15—
Y4007 |F—nAF XA 15 10, 692 3, 564 3, 564 3,564 =2 —T— 34 —2
K
= 1,532 391, 846
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